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Repeat_RecursiveTree | Processing 3.0b6

Repeat_RecursiveTree

] void seed2(float dotSize, float angle, float x, float y) {

< 2 Repeat_RecursiveTree
if (dotSize > 1.0) { P ibilld

// Create a random numbers between ©® and 1
float r = random(0, 1.0);

// 95% chance this will happen
if (r > 0.05) {
ellipse(x, y, dotSize, dotSize);
float newx = x + cos(angle) * dotSize;
float newy = y + sin(angle) x dotSize;
seed2(dotSize * 0.99, angle + angleOffsetA, newx, newy);
}
// 5% chance this 11 happen
else {
ellipse(x, y, dotSize, dotSize);
float newx = x + cos(angle);
float newy = y + sin(angle);
seedl(dotSize * 0.99, angle + angleOffsetA, newx, newy);
seed2(dotSize * 0.60, angle + angleOffsetB, newx, newy);

Console A\ Errors




sketch210566

Paintings

Mondrian by Justin M Rocha : www.openprocessing.org/sketch/210566


http://www.openprocessing.org/portal/?userID=51922

Schizzo2 by Luca Sassone : www.openprocessing.org/sketch/12878


http://www.openprocessing.org/portal/?userID=6470

Patterns
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Islamic Stars by Jim Bumgardner : www.openprocessing.org/sketch/1261



http://www.openprocessing.org/portal/?userID=1032
http://www.openprocessing.org/portal/?userID=1032

but...



void seed2(float dotSize, floa

Repeat_RecursiveTree

if (dotSize > 1.0) {

// Create a random numbers betw§

float r = random(0, 1.0);

// 95% chance this will happen

if (r > 0.05) {
ellipse(x, y, dotSize, dotSizé
float newx = x + cos(angle) *
float newy = y + sin(angle) *
seed2(dotSize * 0.99, angle +

}
// 5% chance this 11 happen
else {

ellipse(x, y, dotSize, dotSizg

float newx = x + cos(angle);
float newy = y + sin(angle);
seedl(dotSize * 0.99, angle +
seed2(dotSize * 0.60, angle +

Console A\ Errors

. Java v

t angl ® 00 A trees.dwg

| Custom View | Realistic

-12.9487, 124.1931, 0.0000



ecursiveTree | Processing 3.0b6

iew | Realistic

if (dotSize > 1.0) {

// Create a random numbers bet
float r = random(0, 1.0);

// 95% chance this will ha
if (r > 0.05) {
ellipse(x, y, dotSize, dotS
float newx = x + cos(angle)
float newy = y + sin(angle)
seed2(dotSize * 0.99, angle
}
// 5% chance this will happen
else {
ellipse(x, y, dotSize, do
float newx x + cos(ang
float newy
seedl(dotSize * 0.99, angle
seed2(dotSize * 0.60, angle m
|

EM Console A\ Errors

sava v

2 trees.dwg

2.9487,

124.1931, 0.0000




Our Goal



Our Goal




Our Goal
2

b—/

Rhinoceros

B SketchUp

AUTODESK
AUTOCAD




Our Solution

&
D L ks
5 L x‘,:.:;&.w:.‘;'mw S

R
!:z:t*m“u“"“'

3
e

P S Rt
eiE ;,w‘if_.%"; "“r*'ﬁ@ ﬂ.:gg:
SRR




Our Solution

&
D ks ks
5 s e,:.:;mﬁm:.‘;'m'—w St

R

o e &9
= S ;Zm{é“:' - “‘"“AM .
BT o SRS AR
= .uﬂ_r.f%,p - -,fﬁ*%ﬂ e Rhinoceros

R R v

£ w'*» R e e s

P “'.:...y::, mx e

-

. &??m“z:ew;:r:.f:r - e waz{ a:‘.vwi’& J."f"a;

Seene R
- PEs

AUTODESK
AUTOCAD




Our Solution

o
il o
Sl e o
,gf:cmﬁﬁ:;r RS E )
“’?’2:;21‘;: S Eefa w.ﬁéiv.m;@:ﬁ.z

,ﬁ: ) Rhinoceros

7 o
REsEaa w“a'.{ SR
R iﬂﬁaﬂ Mot
=t ACya kA e
oy Ak e e S R e Wy
ot ”‘“» e o C
e B e e A e
RS T R L L -/\I.o...,"it;’“‘*‘_m?f. e p
- e

ml’hw& D

AUTODESK
AUTOCAD




Advantages



@® ® RecursiveTree.rkt - DrRacket
RecursiveTree.rkt ¥ (define .) v (5] @l O« Macro Stepper 1P| Run[> Stop

#lang processing

float f = 0.7;
float narrow = 0.55;

void tree(float v _ Fflaat u flaat 5 flnat lan Fflaot 1ot Flaat cnlat  F£laad
® ® tree.dwg
float x2 = A | Custom View | Realistic

float y2
= float z2 o
rocessin i [ ]
= -~
coneFrustum(
® if (len < 7)
with =il
}

else {
float al
float a2

CAD tools e

tree(x2,
tree(x2,

Determine language fi

110.7438, -80.6895 , 0.0000



Drawing1.dwg

37~ 2% Drafting & Annotation

[-I[Custom View] Realistic]
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(o} ® helix.pde - DrRacket
helix.pde ¥ (define ..) v HE] @l Check Syntax D4 Macro Stepper J§'B| Run[> Stop il

#lang processing

float r = 15;
float height = 2;

void helix(flo;r AR anal) S
float x1 =
float x2 =

| helix.dwg

Better 3D
p rimitives v serun)

}

Determine language




Basic Processing 3D Primitives

box sphere



Additional 3D Primitives

cylinder



Boolean Operations

subtraction intersection



Other Operations

spline + loft



RecursiveTree.rkt - DrRacket

RecursiveTree.rkt ¥ (define .) v (5] @l O« Macro Stepper 1P| Run[> Stop

#lang processing

float f = 0.7;
float narrow = 0.55;

void tree(float x, float y,float z, float len, float lat, float coLat, floa

float x2 = x + len
float y2 y + len
float z2 z + len
float narrowRadius

*

*
*

cos(lat) * sin(colLat);
sin(lat) * cos(colLat);
cos(colat);]|

radius * narrow;

coneFrustum( xyz(x, y, z), radius , xyz(x2, y2, z2), narrowRadius);

if (len < 7) {

box(xyz(x2-3,y2-3,22-0.5),6,6,1);

}

else {

float al = lat + PI/4;;

float a2 = PI/4;

tree(x2, y2, z2, f x len, al, a2, narrowRadius);

tree(x2, y2, z2, f x len, (al + PI % 1/2), a2, narrowRadius);
tree(x2, y2, z2, f x len, (al + PI ), a2, narrowRadius);
tree(x2, y2, z2, f x len, (al + PI % 3/2), a2, narrowRadius);

Determine language from source

529.83MB[_| ¢ @



[ JON J Untitled 4 - DrRacket

0913b | Processing 3.0b6

Untitled 4+ (define ..) ¥ @ Check Syntax Macro Stepper &'l Run[> Stop [l o o .
NEVER

#lang processing
int fib(int n){ sketch_150913b
if (n 0 || n==1)

return n;
else

return fib(n-1) + fib(n-2);

int fib (int n) {
if (n 0 || n==1)
return n;
else
return fib(n-1) + fib(n-2);

O s W N e

Welcome to DrRacket, version 6.2.1 [3m]. 14
Language: processing; memory limit: 128 MB. 15
> 16

Q

Determine language from source¥ 2 465.23 MB D % [} EM Console A Errors




[ JON ) Untitled 4 - DrRacket

sketcl 3b | Processing 3.0b6

Untitled 4+ (define ..) ¥ @Dl Check Syntax e Macro Stepper 35| Run[> Stop [l o o
Java v

#lang processing
sketch_150913b

int fib(float n){
if (n==0 || n==1)
return n;
else
return fib(n-1) + fib(n-2);

int fib(float n){
if (n==0 || n==1)
return p;
else
return fib(n-1) + fib(n-2);

RGN ) FR

Welcome to DrRacket, version 6.2.1 [3m]. 14
Language: processing; memory limit: 128 MB. 15
Module Language: invalid module text 16

% Cannot convert a float to int

Interactions disabled. cannot convert from float to int

unsaved editor:5:11: Cannot convert a float to int Jump toError | €3

Determine language from source¥ 2 465.23 MB D \ﬁ [ ) ﬂ Console A Errors




Untitled 6 - DrRacket
S@Du Check Syntax & ® 00 Drawing1.dwg

| custom View | Realistic
Welcome to DrRacket, version 6.2.1 [3m].

Language: processing; memory limit: 128 MB.

> |

Determine language from sourcev

-2.1328, 18.9570,0.0000




[ NN Untitled 6 - DrRacket

Untitled 6%  (define ..) ¥ @l Check Syntax @00 A circlel.dwg
Welcome to DrRacket, version 6.2.1 [3m].

Language: processing; memory limit: 128 MB.
> sphere(xyz(0,0,0),10);

>

‘ Front ‘ Shades of Gray

Determine language from sourcev

10.1106, 0.0000 , 10.9755



[ NN Untitled 6 - DrRacket

Untitled 6%  (define ..) v mp[E @l Check Syntax @ ‘ ® ‘ A circle2.dwg
Front | Shades of Gray

Welcome to DrRacket, version 6.2.1 [3m].

Language: processing; memory limit: 128 MB.

> sphere(xyz(0,0,0),10);

> sphere(xyz(0,0,10),10);
> |

Determine language from sourcev

-16.4573, 0.0000 , 8.0721



[ NN Untitled 6 - DrRacket

Untitled 6%  (define ..)» =p(E] @l Ccheck Syntax © LR A circle3.dwg

Front | Shades of Gray
\ \

Welcome to DrRacket, version 6.2.1 [3m].
Language: processing; memory limit: 128 MB.

> sphere(xyz(90,0,0),10);

> sphere(xyz(0,0,10),10);

> |cone(xyz(@,@,—S) ,10, xyz(0,0,-40));
>

Determine language from sourcev

25.0914, -8.7528 , 0.0000
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mosaic.pde - DrRacket

@l Check Syntax ©¢f Macro Stepper §g'P| Run|> Stop [l

llang processing

require "fib.rkt";
require "draw.rkt";

float height = 20;

void echo(int n, Object pos, float ang, float
ifFi{n=1) 4
fullArc( pos, r, ang, HALF_PI, height);
)
else {
float fib = fib(n);
fullArc( pos, r / fib, ang, HALF_PI, heig
echo(n-1, pos, ang, r);
}
b

void mosaic(float 1) {
int max = 3;
for(int 1 = 0; i < max; i++) {
for (int j = 0; j < max; j++) {
echo(10, xyz(ix100.0, jx100.0, 0.0), 0.€
echo(10, xyz(ix100.0 + 1, jx100.0, 0.0),
echo(10, xyz(i*100.0 + 1, j*100.0 + 1, ¢

echo(10, xyz(i*100.0 , j*100.0 + 1, 0.0
1

Determine language from source«




[ NN ] Skyscraper.rkt - DrRacket
Skyscraperrkt v (define..)v H{E] @ Check Syntax D¢ Macro Stepper §g'P| Run|> Stop [l

#lang processing

void skyscraper(float x, float y, float len, f
float x2 = x + len % cos(ang);
float y2 = y + len * sin(ang);

circle(xyz(x, y, 0), xyz(x2, y2, 0));

if (len < 10)
ellipse( xyz(x2, y2, @), 0.6, 0.6);
else {
skyscraper(x2, y2, 0.5 x len, ang + da);

}

void setup(){
backend(autocad);

b

void top(float x, float, y, float x2, float y2
circle(xyz(x, y, @), xyz(x2, y2, 0));

if (len < 10)
ellipse( xyz(x2, y2, 0), 0.6, 0.6);

Alan T

Determine language from source+




Future Work
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Thank you!

Questions?



